

Name of college - S.S. college 3-Bad

Dept - Mathematics

Topic - problem based on oblique
Algebraic curve. (Contd)

Ref class - B.Sc I (Hons)

Date - 19-07-2021

By - Samrendra

Problem 1.

Find the Asymptotes of the Curve.

$$x^4 - y^4 + 2ax^2y = b^2x^2.$$

Solution $\rightarrow$ Here By the ~~question~~ question
Equation of the Curve is

$$x^4 - y^4 + 2ax^2y = b^2x^2.$$

This Equation can be written as

$$(x^2 - y^2)(x^2 + y^2) + 2ax^2y - b^2x^2 = 0$$

$$\Rightarrow (x-y)(x+y)(x^2+y^2) + 2ax^2y - b^2x^2 = 0$$

The Asymptotes parallel to $x-y=0$

$$x-y + \lim_{\substack{x,y \rightarrow \infty \\ y/x \rightarrow 1}} \frac{2ax^2y - b^2x^2}{(x+y)(x^2+y^2)} = 0$$

$$\Rightarrow x-y + \lim_{x,y \rightarrow \infty} \frac{2xy/x - y^2 \cdot \frac{1}{x}}{y/x \rightarrow 1 (1+y/x)(1+y^2/x^2)} = 0$$

$$\Rightarrow x-y + \frac{2xy - y^2}{(1+1)(1+1)} = 0$$

$$\Rightarrow x-y + \frac{2y}{4} = 0$$

$$\Rightarrow x-y + \frac{1}{2}y = 0$$

the Asymptotes parallel to $x+y=0$

$$\text{is } x+y + \lim_{x,y \rightarrow \infty} \frac{2xy/x - y^2/x}{y/x \rightarrow -1 (1-y/x)(1+y^2/x^2)} = 0$$

$$\Rightarrow x+y + \frac{2y(-1)}{(1+1)(1+1)} = 0$$

$$\Rightarrow x+y - \frac{2y}{4} = 0$$

$$\Rightarrow x+y - \frac{1}{2}y = 0$$

Hence the required Asymptotes are

$$x+y + \frac{1}{2}y = 0$$

$$x+y - \frac{1}{2}y = 0$$

Find the Asymptotes of the Curve

$$(x^2 - y^2)^2 - 2a^2(x^2 + y^2) + xa^3 = a^4$$

Solution

Here equation of the curve is

$$(x^2 - y^2)^2 - 2a^2(x^2 + y^2) + xa^3 = a^4$$

it can be written as

$$(x+y)^2(x-y)^2 = 2a^2(x^2 + y^2) - xa^3 + a^4$$

Thus the Asymptotes Parallel to

$$x+y=0 \text{ is}$$

$$x+y = \pm \sqrt{\lim_{\substack{x,y \rightarrow \infty \\ y/x \rightarrow 1}} \frac{2a^2(x^2 + y^2) - xa^3 + a^4}{(x-y)^2}}$$

$$= \pm \sqrt{\lim_{\substack{x,y \rightarrow \infty \\ y/x \rightarrow 1}} \frac{2a^2(1 + \frac{y^2}{x^2}) - \frac{a^3}{x} + \frac{a^4}{x^2}}{(1 - y/x)^2}}$$

$$= \pm \sqrt{\frac{2a^2(1+1) - 0 - 0}{2^2}}$$

$$= \pm \sqrt{\frac{2a^2 \times 2}{4}} = \pm a$$

$\therefore$ the Asymptotes parallel to $x+y=0$ is

$$x+y-a=0$$

$$x+y+a=0$$

Again the Asymptotes parallel to $x-y=0$ are given by

$$x-y = \pm \sqrt{\lim_{\substack{n,y \rightarrow \infty \\ y/x \rightarrow 1}} \frac{2a^2(x^2+y^2) - x^3 + ay}{(x+y)^2}}$$

$$= \pm \sqrt{\lim_{\substack{n,y \rightarrow \infty \\ y/x \rightarrow 1}} \frac{2a^2(1+y^2/x^2) - \frac{a^3}{x} + \frac{ay}{x^2}}{(1+y/x)^2}}$$

$$= \pm \sqrt{\frac{2a^2 \times 2}{4}}$$

$$= \pm a$$

$\therefore$ Asymptotes parallel to $x-y=0$ are

$$x-y+a=0$$

$$x-y-a=0$$

Thus total No. of Asymptotes are

$$x+y-a=0 \quad x-y-a=0$$

$$x+y+a=0 \quad x-y+a=0 \quad \text{Given}$$

Which are parallel to $x-y=0$

$$\text{or } \underline{x+y=0}$$